

# Maisonette in St Paul's Bay



## St Paul's Bay, North



**€347,000**

Reference No: 240291010-1071

 Total Rooms: 5

 Floor Area (m<sup>2</sup>) : 122

 Bathrooms: 2

 Bedrooms: 2

# Maisonette - For Sale - St Paul's Bay

ST PAUL'S BAY- A new development just launched currently selling on plan, maisonettes ,apartments and penthouses and 2 Bedrooms .Units will be sold highly finished excluding bathrooms and doors. Optional garages also available. Units are selling fast on plan! Freehold. For more information or to schedule a viewing contact your trusted remax agent now.

## Features

- ✓ En Suite
- ✓ PVC Piping
- ✓ Skirting
- ✓ Electricity Utility
- ✓ A/C

## Rooms

- ✓ Kitchen/Living/Dining : 5.64 x 6 m (33.84 m<sup>2</sup>)
- ✓ Double Bedroom : 3.08 x 2.8 m (8.62 m<sup>2</sup>)
- ✓ Double Bedroom : 4.36 x 2.8 m (12.21 m<sup>2</sup>)
- ✓ Bathroom : 1.24 x 3.02 m (3.74 m<sup>2</sup>)
- ✓ Bathroom Ensuite : 1.27 x 2.48 m (3.15 m<sup>2</sup>)

# Gallery





**Andrew Gauci**

RE/MAX North - Qawra

M: 79871787

E: [andrewgauci@remax.com.mt](mailto:andrewgauci@remax.com.mt)

T: 21585844

**RE/MAX North - Qawra**

Dawret il-Gzejjer, Qawra, St Paul's Bay, Malta